Q1
Answer :
Total number of trials = 300

Number of times a head is obtained = 136
Number of times a tail is obtained= 164

. - : _ Numbe r of times heads is obtained _ 136 34
(i) Probability of getting head = Total nmmber of trid =300 — 1%
- - ; it — Number of times tails is oblained _ 164 41
(il) Probability of getting a tail = T oumberof 7 =30 — T8
Q2
Answer :
Total number of trials = 200
Number of times 2 heads are obtained = 58
Number of times one head is obtained = 83
Number of times no head is obtained = 59
(i) Probability of getting 2 heags = Number of tmes 3 heads bavo boon obtained _ 28 _ 29
(i) Probability of getting 1 head = Number of times 1 bead fus boen obtained _ %8

(iii) Probability of getting 0 head = Number of

Himes
Total mumber of trials 200



Q3

Answer :

Total number of trials = 100
Number of times 3 is obtained = 18
Number of times 6 is obtained = 9
Number of times 4 is obtained = 15
Number of times 1 is obtained = 21

9
Total number of trials — 1w~ S0

(i) Probability of getting a 3 — Number of tmes 3 &s obtaned _ 18

(1_1) Probability of getting a 6 — Brnber_of fime 8 b obtsiesd _ 9

Total pumber of triaks — 100
(m) Probability of getting a 4 — Number of times 4 is_obiained _ 15 _ 3
Number of times 1 is obtalned 21
(iv) Probability of getting a1 = ““,‘r T = =
Q4
Answer :

Total number of ladies surveyed = 100
Ladies who like coffee = 36
Ladies who do not like coffee = 64

(i) Probability of choosing a lady who likes coffee — Number of Jadis who Tke coffec
36 Q
% =%

(ii) Probability of choosing a lady who dislikes coffee
_ Number of ladies who dislike coffoe 4 16

Total number of ladies — 10 T B




